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Q.1: Anen —Ses=d ) ¥ Attempt both the questions # 30 Marks
Pt any SIX question i L g e e
Marki) . 1t Answer Type), Each question is of two mark s
|” LASCuss recursion and its principle’~
) Explair .
! i 1n the overflow condition for ¢, Sl e ({ BKL: 2)
B4~ Wiite a short note on stack BKL: 2)
&) Differentiate between simple queye and circular queye (BKL: 2)
o Iaplain double ended queuc (BKL: 2)
D~ Covert the infix expression (AYB) * (cyp) “ E * F it . (BKL: 2)
itMo post
g) DifTerentinte between infix, posthix and prefix expres “'”' - (BKL: 2)
(BKL: 2)

Q.2: Auempt any THREE questions (Medi#™ Anguer Toney 1 }
. ). Each

18 Marks) | e
a) ~Evaluate the following postfix expression using 5iqc)

239*+73"-65/+, show the COBIEnLs of each and eve

prefix form of above expression Where “ is an ¢ Xponent op: 'l" r :

b) Write a C program 1o implement Queus using smgle linked lis

€)
i) (A+BYC*D-F (ii) A*BAC-D*E+}

d) What is a priority Queue? Wrile 3 C lunction for inserting & deletir
prniorty qucuc
(BKL : 3)

¢) Write implementation of a stack using &rray

Section -~ B (CO - 4) # Attempt both the questions # 30

For the given infix expressions find its prefix and postfix notation by 1

15 of &6 marks (3 x &

also find the equivalent
(BKL : 3)
(BKL : 3)
asing Stack: (BKL : 3

g an clement from the

0.3: Atempt any SIX questions (Short Answer Type). Each question is of
Marks)

&) Differentiate between lincar and binary search? { BKL:

b) Define collision in hashing ( Bl\_l -

¢) Explain index scquential scarch? { Hl\':,l.
sort. (B

&7 What 1s the basic difference between Quick sort and merge

" &) 'What is the best case average case and worst case compicxd
F

v of binary scarch? ( BKL: 2)

HOT
(BKL : 3)
Marks
two marks. (2 x 6 = 12
2)
2)
2)
+ 2)
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THREE questions (Medium Answer Tyse) Fach questior

‘,I“r' any
mentation of selection SOM Also calculate its complexin
y sort 15,22.30,10,15,64,1.3,9

gorithi

( BKL:3)
{ BKL: 3)

plementation of Merge sort
7,13, 2,5, 43, 5 and 15 are mseried into an mit
» with hash function hik) = k mod 10 &
i} Differentiae between linear and quadraty

{ lincar pi

;m-h g |

( BKL: 3)




